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(Class: 11)

FIRST MID TERM TEST - 2024

Time Allowed : 1.30 Hours| MATHEMATICS Tae [Max. Marks : 50
' ~ Part-l . L
Answer all the Questions: YouTube/ Akwa Academy 10X1=10

1. Ifthe ﬁxnctxon J: [3, 3] = S defined by f'(x) = x? is onto, then S'is :

1) [-9, 9] 2) R . 3)[-3,3] 4)[0,91
2. The number of relatidns on a set containing 3 eléments lS . )

H9 o8 3)512 1 4) 1024
3. Ifd={(x,y):y=¢€,x€ R} and B= -{(x_,y) ry= e, x € R} then n(A NB)is .

1) Infinity 20 )% IR 4)2

4. The value of log; — is

1)-2 . - 2)-8 L84 o gy-9
5. The number_o.froots‘of(x'+ 3)‘+(x.;f- 16 is v‘
4 22 - 33 - Y

6. The number of solutions of x2 -5 x|+6=0is

n4 . )% U R 3H2 , ' 43
7. coslao""_slnao”_, o, ) '
nVZ v B2 o L4

8. cos1° cos2® cos3° ... cos179°=

12 S .21 ' - -1 4)0
9. Ifn(4)= 2andn(BUC') =3, thcnn[(A xB)U(AxC)] is

i)2° e »3 36 45
10. (1 ;i-cbs%) (1 +cos3—:-)- (1 -l_-cos-s'—:-) (1 +cos%’-’)¥

R

i | 1 =y 1 | 1
D3 D3 : 3)-\/'3‘.; V7
| Part-ll
Answer any four Questlons, Q.no:16 is compulsory. ' : 4X2=8

11. FmdthenumberofsubsctsofAifA={x x=dn+1, 25n55 n €N}.

12. Find the domain ofm};
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13. From' thecurvey = sinx, draw y:‘;_ Sinlxl
14. Solve : |x — 9| < 2 for x. e o

15. Find the values of sin34° + c0s64° — cos4®

16 Find the values of (i) cos(— 45°) and (ii) cot(— 0°)
Part-lli

Answer any four Questions, Q.no:22 is compulsory. ~ 0 4X3=12
17. 1€ n(P(A)) = 1024, n(4 U B) = 15 and n(P(B)) = 32, then find n(A nB).

18. Find the range of the function f{x) _‘—1_31,_-' s

19. Find the values of (i) cos 105° and (i) tan 7=

20. Find the values of sinl8°
- 21. In the set Z of integers, define mRn if }n- n is a multiple of 12. Prove thqt R is an equivalence

relation.’

22, Iflog (% = —(log a + log b) show th % =23

Answer all the Questlons ' ‘ - 4X5=20
23. (a) Iff, g:R—Rare deﬁncd by f(x) x| +x and g(x) = |x| - x, find gofand fog. (OR)

cot(180‘+6) stn(90'—9) cos(- 8) '

= 2
(b) Prove that oo, gy tan(—6) cos ec(360°+6) _ cos? 6 cot

24. (a) Solve : *1c3 . i .(OR)

x+3
aen? 1T 1 cae i O G
(b) Simplify: 5=~ 75—y7 T e Vv | Vo2
. g 2 e ¢
25. (a) Resolve into partial fractions: (T;TF&;-T) | ; . (OR)

(©)If4+B=45°, showthat(1+tanA)(l+tanB) 2.

26. (a) State and prove Napier’s Formula. RS (OR)
.(0) Iff R— R is defined by f(x) Ix -5 provc that f is a bijection and find its mverse

S IR
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